

605 W HOWARD LANE SUITE 200

Austin, TX 78753

Phone: (512) 335-8089 / Fax: (512) 258-2581

AS CR	COCKE	TT
	AS CR	AS CROCKE

Proposal

From:	Clay	Banner
Estimator:		
Admin:		

Revision #:

Date: __10/28/2022 __ Bid Due Date: __10/28/2022 Plan Date: Addendum:

<u>To</u> **Project**

WILLIAMSON COUNTY 3101 SE INNER LOOP GEORGETOWN, TX 78626 WILCO JAIL 1ST FLOOR SURVEILLANCE ROOM. TARKETT ALLIANCE-168119 SOURCEWELL 080819-TFU

306 W 4th St

GEORGETOWN, TX

Phone: (512) 943-3261-

PROPOSAL DESCRIPTION

					Unit	Line
			Que	antity	Price	Total
1	STAIR NOSING					
	FUTURA INDUSTRIES	ETCHED ALUMINUM	3.00	EA	74.000	222.00
	LVT 340 STAIR NOSING	/ LVT340				
2	INSTALLATION LABOR ONLY OF STAIR NOSING					
	FLOORING SOLUTIONS INC.	NA	3.00	EA	45.000	135.00
	LABOR					
3	DEMO OF CARPET					
	FLOORING SOLUTIONS INC.	NA	50.00	EA	3.240	162.00
	LABOR					
4	RB-1 WALL BASE SUPPLIED					
	JOHNSONITE®	BURNT UMBER	120.00	LF	2.042	245.00
	WALL BASE (DC)-RUBBER-COVE-4.5" ROLL	/ DC-63-4.5R				
5	INSTALLATION OF RUBBER BASE					
	FLOORING SOLUTIONS INC.	N/A	120.00	LF	1.817	218.00
	INSTALLATION LABOR					
6	LVT-1 SUPPLIED					
	TARKETT®	TBD	360.00	SF	3.408	1,227.00
	ID LATITUDE PLANK 6X48	/				
7	INSTALLATION LABOR OF VINYL PLANK					
	FLOORING SOLUTIONS INC.	NA	360.00	SF	3.500	1,260.00
	LABOR					
8	ADHESIVE MATERIALS SUPPLIED ONLY					
	TARKETT®	4GAL	1.00	EA	278.000	278.00
	ADHESIVE ROLLSMART	/				

TOTAL (THESE LINE ITEMS TAX EXEMPT)

\$3,747.00

All work is to be performed during normal business hours unless noted otherwise.

Only minor floor prep is included.

The filling of holes, trenches, and major floor leveling is not included unless noted otherwise.

Cleaning, waxing, vacuuming or protection of new flooring is not included unless noted otherwise.

Full payment is due ten (10) days from receipt of invoice.

Excludes moisture suppression system.

This proposal is valid for 14 days.

WARRANTY DOES NOT INCLUDE ANY MOISTURE RELATED SUBFLOOR FAILURES

Flooring Solutions, Inc Austin		WILLIAMSON COUNTY
Signed:		Signed:
Clay	Banner	
Proposal Total	\$3,747.00	Proposed Installation Start Date:



605 W HOWARD LANE SUITE 200

Austin , TX 78753

Phone: (512) 335-8089 / Fax: (512) 258-2581

AS CR	COCKE	TT
	AS CR	AS CROCKE

Proposal

From:	Clay	Banner
Estimator:		
Admin:		

Revision #:

 Date:
 10/28/2022
 Bid Due Date:
 10/28/2022

 Plan Date:
 Addendum:

<u>To</u> <u>Project</u>

WILLIAMSON COUNTY 3101 SE INNER LOOP GEORGETOWN, TX 78626 WILCO JAIL 2ND AND 3RD FLOOR SURVIELLANCE TARKETT ALLIANCE-168119 SOURCEWELL 080819-TFU

306 W 4th St GEORGETOWN, TX

Phone: (512) 943-3261-

PROPOSAL DESCRIPTION

					Unit	Line
			Que	antity	Price	Total
1	STAIR NOSING					
	FUTURA INDUSTRIES	ETCHED ALUMINUM	3.00	EA	74.000	222.00
	LVT 340 STAIR NOSING	/ LVT340				
2	INSTALLATION LABOR ONLY OF STAIR NOSING					
	FLOORING SOLUTIONS INC.	NA	3.00	EA	45.000	135.00
	LABOR					
3	DEMO OF CARPET					
	FLOORING SOLUTIONS INC.	NA	80.00	SY	2.500	200.00
	LABOR					
4	RB-1 WALL BASE SUPPLIED					
	JOHNSONITE®	BURNT UMBER	240.00	LF	2.042	490.00
	WALL BASE (DC)-RUBBER-COVE-4.5" ROLL	/ DC-63-4.5R				
5	INSTALLATION OF RUBBER BASE					
	FLOORING SOLUTIONS INC.	N/A	240.00	LF	1.817	436.00
	INSTALLATION LABOR					
6	LVT-1 SUPPLIED					
	TARKETT®	TBD	684.00	SF	3.409	2,332.00
	ID LATITUDE PLANK 6X48	/				
7	INSTALLATION LABOR OF VINYL PLANK					
	FLOORING SOLUTIONS INC.	NA	684.00	SF	3.500	2,394.00
	LABOR					
8	ADHESIVE MATERIALS SUPPLIED ONLY					
	TARKETT®	4GAL	1.00	EA	278.000	278.00
	ADHESIVE ROLLSMART	/				

TOTAL (THESE LINE ITEMS TAX EXEMPT)

\$6,487.00

All work is to be performed during normal business hours unless noted otherwise.

Only minor floor prep is included.

The filling of holes, trenches, and major floor leveling is not included unless noted otherwise.

Cleaning, waxing, vacuuming or protection of new flooring is not included unless noted otherwise.

Full payment is due ten (10) days from receipt of invoice.

Excludes moisture suppression system.

This proposal is valid for 14 days.

WARRANTY DOES NOT INCLUDE ANY MOISTURE RELATED SUBFLOOR FAILURES

Flooring Solutions	, Inc Austin	WILLIAMSON COUNTY	
Signed:		Signed:	
Clay Bar	nner		
Proposal Total:	\$6,487.00	Proposed Installation Start Date:	
_			